WL ARET TRE2022ER/=HF T FHRBN KRG R E KA E 2

1.

aﬂ%éﬂf:{xpx—xg >0}, N ={z|x* —4x+3>0] U a2 =
(A)(0.1) (B)(L3) (C)(0.3) (D)(3.+)

2.

BEH AR, CAREEG, BaG-%)z=142, M=

1 2 1 2 1 2 1 2

———i

A 7% (B) 757% (c) 757% (D) 575
3.

. B TR AE R E S B R R T A R, TR BENLHE 100058 5 N TR 2 TR K& 2
HEFMR, BB2x25BK, SUES rosnl,, SRERREE S B MR IG5 8§ 5 %14
F, rPieizisan=00s5 AL 26635 =001, NZWRIETEILL G )

(A H95% LA LHFER I TR 58w o<
(B) F95%UA_E BB NI 5 B A K
(C) H99% A LHIEEY AR L BIRA <
(D) H99% A L FIFEIE DI AR 5 i 6 o<

>

AT W BT A AR PP AR IR, i B 5 A

(A) 19 B 42
) 8 (D) 3
3
i=1,3=1 Ella <b, BB/ (=sing, g(m=cosx

@lp : @ S6)<0,
= ﬁﬁ‘ﬁﬁlﬂq : BRI @) ERE. Walp ReEq R

% ;
vy | IH

(A) RANBEFME  (B) BEATS M



